EXHIBIT 1A

Case 10-26881 Doc 731-1 Filed 11/07/11 Entered 11/07/11 18:08:15 Desc Exhibits 1A - 3 Page 2 of 27 Timekeeper Summary Chart for Services Rendered

During the Current Application Period (By Timekeeper)

		YEAR	,	AVERAGE HOURLY	
NAME	POSITION	LICENSED	HOURS	RATE	FEE
Todd C. Meyers	Partner	1991	5.60	\$362.50	\$2,030.00
Todd C. Meyers	Partner	1991	16.40	\$725.00	\$11,890.00
Robbin Rahman	Associate	2000	47.50	\$420.00	\$19,950.00
La Asia S. Canty	Paralegal	N/A	27.60	\$220.00	\$6,072.00
TOTAL			<u>97.10</u>		<u>\$39,942.00</u>

BLENDED AVERAGE HOURLY RATE

\$411.35

Case 10-26881 Doc 731-1 Filed 11/07/11 Entered 11/07/11 18:08:15 Desc Exhibits 1A - 3 Page 3 of 27 Timekeeper Summary Chart for Services Rendered

Timekeeper Summary Chart for Services Rendered During the Final Application Period (By Timekeeper)

NAME	POSITION	YEAR LICENSED	HOURS	AVERAGE HOURLY RATE***	FEE
Alfred S. Lurey	Partner	1967	20.70	\$710.00	\$14,697.00
Alfred S. Lurey	Partner	1967	20.40	\$740.00	\$15,096.00
Caroline W. Spangenberg	Partner	1977	4.50	\$675.00	\$3,037.50
Colin M. Bernardino	Partner	2000	0.50	\$475.00	\$237.50
Jay F. Bogan	Partner	1989	0.60	\$595.00	\$357.00
Jeffrey T. Skinner	Partner	1996	0.60	\$510.00	\$306.00
Lynn E. Fowler	Partner	1986	5.00	\$325.00	\$1,625.00
Lynn E. Fowler	Partner	1986	12.30	\$625.00	\$7,687.50
Lynn E. Fowler	Partner	1986	27.30	\$650.00	\$17,745.00
Ron L. Raider	Partner	1986	24.20	\$580.00	\$14,036.00
Stephen A. Edwards	Partner	1978	9.70	\$550.00	\$5,335.00
Todd C. Meyers	Partner	1991	25.20	\$312.50	\$7,875.00
Todd C. Meyers	Partner	1991	58.90	\$362.50	\$21,351.25
Todd C. Meyers	Partner	1991	293.20	\$625.00	\$183,250.00
Todd C. Meyers	Partner	1991	409.90	\$725.00	\$297,177.50
W. Randy Eaddy	Partner	1980	11.70	\$655.00	\$7,663.50
Michael D. Langford	Counsel	1987	25.40	\$425.00	\$10,795.00
Michael D. Langford	Counsel	1987	8.40	\$475.00	\$3,990.00
Susan F. Motter	Counsel	1994	1.50	\$390.00	\$585.00
Susan F. Motter	Counsel	1994	0.90	\$410.00	\$369.00
Cristin A. Burke	Associate	1998	7.40	\$395.00	\$2,923.00
Mark A. Fink	Associate	1997	0.40	\$395.00	\$158.00
Matthew R. Hindman	Associate	2009	137.10	\$250.00	\$34,275.00
Matthew R. Hindman	Associate	2009	75.70	\$265.00	\$20,060.50
Monifa Wright	Associate	2006	49.00	\$295.00	\$14,455.00
Robbin Rahman	Associate	2000	24.80	\$210.00	\$5,208.00
Robbin Rahman	Associate	2000	538.80	\$420.00	\$226,296.00
Robbin Rahman	Associate	2000	45.80	\$445.00	\$20,381.00
Sameer Kapoor	Associate	2003	180.30	\$320.00	\$57,696.00
Samuel Diamant	Summer Associate	N/A	5.00	\$215.00	\$1,075.00
Shane G. Ramsey	Associate	2006	20.80	\$365.00	\$7,592.00

Case 10-26881 Doc 731-1 Filed 11/07/11 Entered 11/07/11 18:08:15 Desc Exhibits 1A - 3 Page 4 of 27 Timekeeper Summary Chart for Services Rendered

Timekeeper Summary Chart for Services Rendered During the Final Application Period (By Timekeeper)

		YEAR		AVERAGE HOURLY	
NAME	POSITION	LICENSED	HOURS	RATE***	FEE
La Asia S. Canty	Paralegal	N/A	118.20	\$205.00	\$24,231.00
La Asia S. Canty	Paralegal	N/A	130.60	\$220.00	\$28,732.00
Molly M. Williams	Paralegal	N/A	21.30	\$205.00	\$4,366.50
TOTAL			<u>2,316.10</u>		1,060,664.75

BLENDED AVERAGE HOURLY RATE

\$457.95

^{***}Rates reflect increase in rates effective January 2011

EXHIBIT 1B

Case 10-26881 Doc 731-1 Filed 11/07/11 Entered 11/07/11 18:08:15 Exhibits 1A - 3 Page 6 of 27 Timekeeper Summary by Task Code (Current ApplicationPeriod)

B120 - Business Operations Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	0.20	725.00	\$145.00
	Task Subtotal	0.20		\$145.00

B130 - Case Administration and Analysis Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	0.10	725.00	\$72.50
LSC	La Asia S. Canty	0.20	220.00	\$44.00
	Task Subtotal	0.30		\$116.50

B140 - Claims Adm. and Analysis Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
LSC	La Asia S. Canty	0.30	220.00	\$66.00
	Task Subtotal	0.30		\$66.00

B160 - Fee/Employment Applications Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	2.90	725.00	\$2,102.50
RR	Robbin Rahman	9.30	420.00	\$3,906.00
LSC	La Asia S. Canty	25.00	220.00	\$5,500.00
	Task Subtotal	37.20		\$11,508.50

B170 - Fee/Employment Objections Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	0.30	725.00	\$217.50
	Task Subtotal	0.30		\$217.50

B190 - Litigation General Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	2.10	725.00	\$1,522.50
RR	Robbin Rahman	2.00	420.00	\$840.00
	Task Subtotal	4.10		\$2,362.50

B200 - Meetings of Creditors Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	2.00	725.00	\$1,450.00
RR	Robbin Rahman	1.50	420.00	\$630.00
	Task Subtotal	3.70		\$2,225.00

Case 10-26881 Doc 731-1 Filed 11/07/11 Entered 11/07/11 18:08:15 Desc Exhibits 1A - 3 Page 7 of 27 Timekeeper Summary by Task Code (Current ApplicationPeriod)

B210 - Plan and Disclosure Statement Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	7.70	725.00	\$5,582.50
RR	Robbin Rahman	33.70	420.00	\$14,154.00
LSC	La Asia S. Canty	2.10	220.00	\$462.00
	Task Subtotal	45.40		\$21,271.00

B310 - Travel Time Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	5.60	362.50	\$2,030.00
	Task Subtotal	5.60		\$2,030.00

Timekeeper Summary by Task Code (Final Application Period)

B100 - Asset Analysis and Recovery Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
LEF	Lynn E. Fowler	2.40	650.00	\$1,560.00
ASL	Alfred S. Lurey	0.60	710.00	\$426.00
ASL	Alfred S. Lurey	1.00	740.00	\$740.00
MRH	Matthew R. Hindman	0.40	265.00	\$106.00
LSC	La Asia S. Canty	2.10	205.00	\$430.50
LSC	La Asia S. Canty	1.80	220.00	\$396.00
	Task Subtotal	8.30		\$3,658.50

B110 - Asset Disposition Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	0.30	625.00	\$187.50
TCM	Todd C. Meyers	0.10	725.00	\$72.50
	Task Subtotal	0.40		\$260.00

B120 - Business Operations Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	1.20	625.00	\$750.00
TCM	Todd C. Meyers	1.40	725.00	\$1,015.00
SK	Sameer Kapoor	0.80	320.00	\$256.00
RR	Robbin Rahman	1.20	420.00	\$504.00
LSC	La Asia S. Canty	2.90	205.00	\$594.50
	Task Subtotal	7.50		\$3,119.50

B130 - Case Administration and Analysis Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
JFB	James F. Bogan III	0.60	595.00	\$357.00
TCM	Todd C. Meyers	57.80	625.00	\$36,125.00
TCM	Todd C. Meyers	19.30	725.00	\$13,992.50
MDL	Michael D. Langford	7.50	425.00	\$3,187.50
MDL	Michael D. Langford	0.10	475.00	\$47.50
MRH	Matthew R. Hindman	12.20	250.00	\$3,050.00

MRH	Matthew R. Hindman	4.70	265.00	\$1,245.50
SK	Sameer Kapoor	14.70	320.00	\$4,704.00
RR	Robbin Rahman	4.20	210.00	\$882.00
RR	Robbin Rahman	22.70	420.00	\$9,534.00
RR	Robbin Rahman	5.90	445.00	\$2,625.50
LSC	La Asia S. Canty	24.90	205.00	\$5,104.50
LSC	La Asia S. Canty	7.10	220.00	\$1,562.00
MMW	Molly Williams	2.70	205.00	\$553.50
	Task Subtotal	184.40		\$82,970.50

B140 - Claims Adm. and Objections Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	2.00	625.00	\$1,250.00
TCM	Todd C. Meyers	3.90	725.00	\$2,827.50
SK	Sameer Kapoor	2.80	320.00	\$896.00
RR	Robbin Rahman	2.60	420.00	\$1,092.00
RR	Robbin Rahman	4.00	445.00	\$1,780.00
LSC	La Asia S. Canty	0.30	220.00	\$66.00
MMW	Molly Williams	0.50	205.00	\$102.50
	Task Subtotal	16.10		\$8,014.00

B150 - Employee Benefits/Pensions Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	0.70	625.00	\$437.50
TCM	Todd C. Meyers	0.10	725.00	\$72.50
SFM	Susan F. Motter	1.50	390.00	\$585.00
SFM	Susan F. Motter	0.90	410.00	\$369.00
RR	Robbin Rahman	10.60	420.00	\$4,452.00
	Task Subtotal	13.80		\$5,916.00

B160 - Fee/Employment Applications Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	11.40	625.00	\$7,125.00
TCM	Todd C. Meyers	10.00	725.00	\$7,250.00
MDL	Michael D. Langford	14.50	425.00	\$6,162.50
MRH	Matthew R. Hindman	0.30	250.00	\$75.00
SK	Sameer Kapoor	29.80	320.00	\$9,536.00

MAF	Mark A. Fink	0.40	395.00	\$158.00
RR	Robbin Rahman	63.50	420.00	\$26,670.00
RR	Robbin Rahman	12.50	445.00	\$5,562.50
LSC	La Asia S. Canty	71.90	205.00	\$14,739.50
LSC	La Asia S. Canty	93.00	220.00	\$20,460.00
MMW	Molly Williams	1.10	205.00	\$225.50
	Task Subtotal	308.40		\$97,964.00

B170 - Fee/Employment Objections Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	7.20	625.00	\$4,500.00
TCM	Todd C. Meyers	4.20	725.00	\$3,045.00
MRH	Matthew R. Hindman	5.20	250.00	\$1,300.00
SK	Sameer Kapoor	10.60	320.00	\$3,392.00
RR	Robbin Rahman	6.10	420.00	\$2,562.00
RR	Robbin Rahman	1.20	445.00	\$534.00
LSC	La Asia S. Canty	1.10	205.00	\$225.50
LSC	La Asia S. Canty	4.50	220.00	\$990.00
	Task Subtotal	40.10		\$16,548.50

B190 - Litigation General Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
CMB	Colin M. Bernardino	0.50	475.00	\$237.50
RLR	Ron L. Raider	24.20	580.00	\$14,036.00
ASL	Alfred S. Lurey	6.60	710.00	\$4,686.00
ASL	Alfred S. Lurey	17.80	740.00	\$13,172.00
TCM	Todd C. Meyers	26.90	625.00	\$16,812.50
TCM	Todd C. Meyers	24.00	725.00	\$17,400.00
MDL	Michael D. Langford	8.20	475.00	\$3,895.00
MW	Monifa Wright	49.00	295.00	\$14,455.00
MRH	Matthew R. Hindman	85.10	250.00	\$21,275.00
MRH	Matthew R. Hindman	37.50	265.00	\$9,937.50
SK	Sameer Kapoor	34.50	320.00	\$11,040.00
SGR	Shane G. Ramsey	2.60	365.00	\$949.00
RR	Robbin Rahman	60.10	420.00	\$25,242.00
RR	Robbin Rahman	10.70	445.00	\$4,761.50
SRD	Samuel Diamant	5.00	215.00	\$1,075.00
LSC	La Asia S. Canty	9.10	205.00	\$1,865.50
LSC	La Asia S. Canty	7.80	220.00	\$1,716.00
MMW	Molly Williams	16.70	205.00	\$3,423.50
	Task Subtotal	426.30		\$165,979.00

B200 - Meetings of Creditors Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
LEF	Lynn E. Fowler	3.00	625.00	\$1,875.00
TCM	Todd C. Meyers	47.90	625.00	\$29,937.50
TCM	Todd C. Meyers	58.20	725.00	\$42,195.00
MRH	Matthew R. Hindman	2.90	250.00	\$725.00
SK	Sameer Kapoor	24.10	320.00	\$7,712.00
RR	Robbin Rahman	18.20	420.00	\$7,644.00
	Task Subtotal	154.30		\$90,088.50

B210 - Plan and Disclosure Statement Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
SAE	Stephen A. Edwards	9.70	550.00	\$5,335.00
JTS	Jeffrey T. Skinner	0.60	510.00	\$306.00
WRE	W. Randy Eaddy	11.70	655.00	\$7,663.50
LEF	Lynn E. Fowler	11.70	650.00	\$7,605.00
ASL	Alfred S. Lurey	1.30	710.00	\$923.00
ASL	Alfred S. Lurey	1.60	740.00	\$1,184.00
TCM	Todd C. Meyers	109.90	625.00	\$68,687.50
TCM	Todd C. Meyers	287.00	725.00	\$208,075.00
MDL	Michael D. Langford	3.40	425.00	\$1,445.00
MDL	Michael D. Langford	0.10	475.00	\$47.50
MRH	Matthew R. Hindman	31.40	250.00	\$7,850.00
MRH	Matthew R. Hindman	33.10	265.00	\$8,771.50
SK	Sameer Kapoor	62.70	320.00	\$20,064.00
SGR	Shane G. Ramsey	18.20	365.00	\$6,643.00
RR	Robbin Rahman	353.80	420.00	\$148,596.00
RR	Robbin Rahman	10.40	445.00	\$4,628.00
LSC	La Asia S. Canty	5.90	205.00	\$1,209.50
LSC	La Asia S. Canty	16.10	220.00	\$3,542.00
MMW	Molly Williams	0.30	205.00	\$61.50
	Task Subtotal	968.90		\$502,637.00

B290 - Tax Issues Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
LEF	Lynn E. Fowler	9.30	625.00	\$5,812.50
LEF	Lynn E. Fowler	13.20	650.00	\$8,580.00
ASL	Alfred S. Lurey	5.50	710.00	\$3,905.00
TCM	Todd C. Meyers	4.70	625.00	\$2,937.50

	Task Subtotal	42.70		\$25,613.50
RR	Robbin Rahman	1.10	445.00	\$489.50
CAB	Cristin Burke	7.40	395.00	\$2,923.00
SK	Sameer Kapoor	0.30	320.00	\$96.00
TCM	Todd C. Meyers	1.20	725.00	\$870.00

B310 - Travel Time Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
LEF	Lynn E. Fowler	5.00	325.00	\$1,625.00
TCM	Todd C. Meyers	25.20	312.50	\$7,875.00
TCM	Todd C. Meyers	58.90	362.50	\$21,351.25
TCM	Todd C. Meyers	21.50	625.00	\$13,437.50
TCM	Todd C. Meyers	0.50	725.00	\$362.50
RR	Robbin Rahman	20.60	210.00	\$4,326.00
	Task Subtotal	131.70		\$48,977.25

B900 - Insurance Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
CWS	Caroline W. Spangenberg	4.50	675.00	\$3,037.50
ASL	Alfred S. Lurey	6.70	710.00	\$4,757.00
TCM	Todd C. Meyers	1.70	625.00	\$1,062.50
LSC	La Asia S. Canty	0.30	205.00	\$61.50
	Task Subtotal	13.20		\$8,918.50

EXHIBIT 2

Case 10-26881 Doc 731-1 Filed 11/07/11 Entered 11/07/11 18:08:15 Desc Exhibits 1A - 3 Page 14 of 27

Expenses Incurred During the Current Application Period

DESCRIPTION	AMOUNT
Airfare (Coach)	\$1,173.80
Hotel	\$635.08
Meals	\$195.57
PACER	\$220.24
Document Reproduction	\$42.90
Long Distance Charges	839.95
Taxi expenses	212.43
Westlaw On-Line Legal Research	\$406.73
TOTAL	\$3,726.70

DESCRIPTION	AMOUNT
Airfare (Coach)	\$11,302.10
Document Reproduction	\$490.25
Federal Express	\$90.90
Hotel	\$5,075.46
Intercall	\$1,379.84
Lexis On-Line Legal Research	\$444.74
Long Distance Charges	\$15,017.82
Meals	\$1,605.93
PACER	\$1,134.99
Parking	\$329.00
Postage and/or Certified Mail	\$21.40
State Bar of Georgia; Letter of Good Standing re Corus	\$15.00
Taxi expenses	\$1,117.43
Travel Expense - Train	\$2.25
Internet	\$39.85
Westlaw On-Line Legal Research	\$2,047.26
TOTAL	\$40,114.22

EXHIBIT 3



Please Remit Payments Only To: P.O. Box 945614 Atlanta, Georgia 30394 Telephone (866) 244-4934 www.kilpatricktownsend.com Fed I.D. 58-0511774

November 4, 2011

CORUS BANKSHARES CREDITORS COMMITTEE Client: 62303 C/O J.C. MATTHEWS, COMMITTE CHAIRMAN Matter: 391796 THE BANK OF NEW YORK MELLON TRUST COMPANY, Invoice #: 11227218

N.A.

601 TRAVIS, 16TH FLOOR **HOUSTON, TEXAS 77002**

RE: CORUS CREDITORS COMMITTEE

REMITTANCE PAGE

	Invoice			Interest/		
Date	Number	Fees	Disbursements	Other	Payments	Balance Due
Current	Invoice:					
11/4/11	11227218	\$39,942.00	\$3,726.70	\$0.00		\$43,668.70

Please return this page with payment Due and Payable upon receipt. 1% interest per month charged on balances after 30 days.

Bank: Wachovia Bank of Georgia Atlanta, Georgia

ABA Routing No.: 061 000 227

Account No.: 2000131592388 Swift Code: PNBPUS33

Credit: Kilpatrick Townsend & Stockton LLP

Please Remit Payments Only To: P.O. Box 945614 Atlanta, Georgia 30394 Telephone (866) 244-4934 www.kilpatricktownsend.com Fed I.D. 58-0511774

November 4, 2011

CORUS BANKSHARES CREDITORS COMMITTEE

Client: Matter:

62303

C/O J.C. MATTHEWS, COMMITTE CHAIRMAN THE BANK OF NEW YORK MELLON TRUST COMPANY,

Matter: 391796 Invoice #: 11227218

N.A.

601 TRAVIS, 16TH FLOOR HOUSTON, TEXAS 77002

RE: CORUS CREDITORS COMMITTEE

For Professional Services Through October 31, 2011:

B120 - Business Operations

Date	Initials	Description	Hours	Amount
10/21/2011	TCM	Review MOR.	0.20	145.00
		Task Subtotal	0.20	145.00
		B120 - Business Operations Summary		
Summary	Timekeep	er Name Hours	Rate/Hour	Amount
TCM	Todd C. I	Meyers 0.20	725.00	145.00
	Task Sub	total 0.20		145.00
		B130 - Case Administration and Analysis		
Date	Initials	Description	Hours	Amount
10/10/2011	TCM	Review hearing agenda.	0.10	72.50
10/12/2011	LSC	Review orders and notices and calendar critical dates and deadlines.	0.20	44.00
		Task Subtotal	0.30	116.50

Amounts are calculated per entry, rounding discrepancies may occur in summaries or totals as a result of prearranged discounts.

Other Charges include a reasonable allocation of related overhead expenses.

Due and Payable upon receipt. 1% interest per month charged on balances after 30 days.

B130 - Case Administration and Analysis Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	0.10	725.00	72.50
LSC	La Asia S. Canty	0.20	220.00	44.00
	Task Subtotal	0.30		116.50

B140 - Claims Adm. and Objections

Date	Initials	Description	Hours	Amount
10/12/2011	LSC	Research, retrieve and transmit proofs of claim at the request of R. Rahman.	0.30	66.00
		Task Subtotal	0.30	66.00

B140 - Claims Adm. and Objections Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
LSC	La Asia S. Canty	0.30	220.00	66.00
	Task Subtotal	0.30		66.00

B160 - Fee/Employment Applications

Date	Initials	Description	Hours	Amount
10/03/2011	LSC	Revise, prepare, and file fourteenth monthly fee statements.	0.60	132.00
10/05/2011	LSC	Prepare certification of no objection for Kilpatrick Townsend.	0.20	44.00
10/05/2011	LSC	Prepare materials for 10/11/11 hearing.	0.70	154.00
10/05/2011	RR	Conference with L. Canty regarding preparations for final fee app and related matters (.3); review and respond to emails from L. Canty regarding same (.2); draft and respond to emails from T. Meyers regarding same (.2).	0.70	294.00
10/05/2011	TCM	Email exchanges with Robbin Rahman regarding final fee applications.	0.20	145.00
10/06/2011	LSC	Prepare certification of no objection for FTI.	0.20	44.00
10/10/2011	TCM	Email exchange with Mike Cordasco regarding fee hearing.	0.10	72.50
10/11/2011	TCM	Prepare for fee application hearing (.2); email exchange with Robbin Rahman regarding fee application order (.1).	0.30	217.50
10/12/2011	TCM	Review FTI fee order (.1); review fee order for KTS (.1).	0.20	145.00
10/14/2011	LSC	Begin preparing September monthly fee application.	1.30	286.00

62303/\$69\$6,10-26881 Doc 731-1 Filed 11/07/11 Entered 11/07/11 18:08:15 Des $$p_{age 3}$$ Exhibits 1A - 3 Page 20 of 27

Date	Initials	Description	Hours	Amount
10/17/2011	LSC	Continue drafting fifteenth monthly application.	1.80	396.00
10/18/2011	LSC	Continue drafting fifteenth monthly application, including narrative portions and forward to R. Rahman for review.	1.70	374.00
10/19/2011	LSC	Revise fifteenth monthly fee statement per R. Rahman's comments (.6); revise and file CNO's regarding fourteenth monthly fee statements (.2).	0.80	176.00
10/19/2011	RR	Review and revise certificates of no objection for 14th monthly fee applications (.3); review and revise 15th monthly fee applications (.7); draft and revise email to FTI regarding same (.1); draft and revise email to Debtor regarding FTI interim fee order (.2).	1.30	546.00
10/20/2011	TCM	Revise and edit fee application and conference with Robbin Rahman regarding same.	0.40	290.00
10/20/2011	RR	Review and respond to emails of T. Meyers regarding September fee application (.1); review and respond to emails from L. Canty regarding same (.1); conference with T. Meyers regarding additional comments regarding same (.1).	0.30	126.00
10/21/2011	RR	Review and revise monthly fee application per comments of T. Meyers (.3); conference with L. Canty regarding same (.1); review and revise fee application of FTI (.1); draft and revise email to committee regarding same (.1).	0.60	252.00
10/21/2011	LSC	Further revise fifteenth monthly fee statement and exhibits.	0.80	176.00
10/21/2011	TCM	Review revised fee application and email regarding same.	0.20	145.00
10/25/2011	LSC	Revise and electronically file KTS and FTI monthly fee statements (.5); begin drafting final fee application (1.1).	1.60	352.00
10/26/2011	LSC	Continue preparing sixteenth and final fee application.	2.50	550.00
10/27/2011	LSC	Continue preparing sixteenth and final fee application and exhibits.	3.70	814.00
10/28/2011	LSC	Continue preparing sixteenth and final fee application.	3.90	858.00
10/30/2011	RR	Draft and revise email to timekeepers regarding final fee application (.1); review and respond to emails of counsel for debtors regarding hearing on final fee applications (.2)	0.30	126.00
10/31/2011	TCM	Work on final fee application and conferences with Robbin Rahman regarding same.	1.50	1,087.50
10/31/2011	LSC	Continue preparing sixteenth and final fee application.	5.20	1,144.00
10/31/2011	RR	Review retention application and related materials regarding same (.5); draft and revise email to T. Meyers summarizing retention issues (.4); conference with L. Canty regarding Final Fee App (.2); review and revise Final Fee App (5.0).	6.10	2,562.00

Date	Initials	Description		Hours	Amount
		Task Subtotal		37.20	11,508.50
		B160 - Fee/Employment Applicati	ons Summa	ry	
Summary	Timekeep	er Name	Hours	Rate/Hour	Amount
TCM	Todd C. I	Meyers	2.90	725.00	2,102.50
RR	Robbin R	ahman	9.30	420.00	3,906.00
LSC	La Asia S	S. Canty	25.00	220.00	5,500.00
	Task Sub	total	37.20		11,508.50
		B170 - Fee/Employment Ob	jections		
Date	Initials	Description	•	Hours	Amount
10/02/2011	TCM	Review Kirkland & Ellis fee application.		0.20	145.00
10/12/2011	TCM	Review Kinetic fees.		0.10	72.50
		Task Subtotal		0.30	217.50
B170 - Fee/Employment Objections Summary					
Summary	Timekeep	er Name	Hours	Rate/Hour	Amount
TCM	Todd C. N	Meyers	0.30	725.00	217.50
	Task Sub	total	0.30		217.50
		B190 - Litigation Gene	ral		
Date	Initials	Description		Hours	Amount
10/01/2011	TCM	Email exchange with Robbin Rahman regard documents produced.	ding reviewi	ng 0.10	72.50
10/04/2011	TCM	Review email regarding FDIC discovery resexchanges with Robbin Rahman regarding s		0.20	145.00
10/10/2011	TCM	Review discovery responses from FDIC.		0.20	145.00
10/11/2011	TCM	Prepare for status conference (.2); travel to a and attend hearing on status conference and (1.1).			942.50
10/18/2011	RR	Review and analyze documents produced by connection with FDIC tax litigation.	debtors in	1.10	462.00
10/19/2011	RR	Review documents produced in connection agreement litigation (.8); draft and revise endebtor regarding written responses to same (nail to couns		378.00

Date	Initials	Description	Hours	Amount
10/21/2011	TCM	Email exchange with Robbin Rahman regarding district cour hearing.	t 0.10	72.50
10/22/2011	TCM	Email exchange with David Seligman and Vik Ghei regarding BankUnited opinion.	0.10	72.50
10/26/2011	TCM	Review Marla Tun email regarding status.	0.10	72.50
		Task Subtotal	4.10	2,362.50
		B190 - Litigation General Summary		
Summary	Timekeep	•	ate/Hour	Amount
TCM	Todd C. I		725.00	1,522.50
RR	Robbin R	ahman 2.00	420.00	840.00
	Task Sub	total 4.10		2,362.50
		B200 - Meetings of Creditors		
Date	Initials	Description Description	Hours	Amount
10/03/2011	٠	Committee call (.5); prepare for same and conference with Robbin Rahman regarding same (.3).	0.80	580.00
10/03/2011	RR	Conference with T. Meyers in advance of committee call regarding issues on agenda (.1); telephone conference with Committee regarding post-confirmation issues (.5); attention to gathering materials and sending same to committee per committee call (.2).	0.80	336.00
10/11/2011	RR	Draft and revise emails to committee members regarding committee meeting (.2); review and respond to emails of T. Meyers regarding same (.1).	0.30	126.00
10/11/2011	TCM	Email committee regarding status.	0.10	72.50
10/12/2011	RR	Review and respond to emails of committee members regarding final committee call and related matters (.2); review and respond to emails of T. Meyers regarding same (.1); telephone conference with committee members regarding same (.1).	0.40 w	168.00
10/14/2011	TCM	Prepare for committee call (.2); committee call (.6); email committee regarding status (.2).	1.00	725.00
10/26/2011	TCM	Telephone conference with Steve Cimalore regarding status.	0.10	72.50
10/27/2011	TCM	Email committee regarding distribution issues.	0.20	145.00
		Task Subtotal	3.70	2,225.00

B200 - Meetings of Creditors Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	2.20	725.00	1,595.00
RR	Robbin Rahman	1.50	420.00	630.00
	Task Subtotal	3.70		2,225.00

B210 - Plan and Disclosure Statement

Date	Initials	Description	Hours	Amount
10/01/2011	RR	Draft and revise email to Creditor Designee regarding confirmation hearing and final revisions to Plan.	0.50	210.00
10/02/2011	RR	Review and analyze previous drafts of Plan Supplement regarding disclosure of Litigation Trustee (.4); draft and revise email to T. Meyers regarding same (.1).	0.50	210.00
10/02/2011	TCM	Email exchange with Gene Davis regarding status.	0.10	72.50
10/04/2011	RR	Draft and revise email to counsel for debtors regarding effective date (.1); draft and revise email to creditors designee regarding same (.1).	0.20	84.00
10/05/2011	RR	Review plan and plan supplement regarding any tasks left to be completed prior to Effective Date (.6); draft and revise email to T. Meyers regarding same (.1); draft and revise email to Committee regarding IT Fee Chart and related matters (.2).	0.90	378.00
10/05/2011	TCM	Email exchange with Robbin Rahman regarding IT fee provision.	0.10	72.50
10/05/2011	RR	Review and analyze motions for payment of IT fees from other bankruptcy cases.	0.40	168.00
10/06/2011	RR	Draft and revise template for fee application for indenture trustees.	1.20	504.00
10/06/2011	RR	Draft and revise email to counsel for Debtors regarding confidentiality agreement for creditors' designee.	0.20	84.00
10/07/2011	RR	Draft and revise emails to counsel for debtors regarding remaining tasks for committee.	0.30	126.00
10/07/2011	RR	Draft and revise fee application for indenture trustees.	1.10	462.00
10/09/2011	TCM	Email Robbin Rahman regarding status.	0.10	72.50
10/10/2011	TCM	Review Robbin Rahman email regarding status (.1); conference with Robbin Rahman regarding IT fee template (.2).	0.30	217.50

62303/\$69\$6,10-26881 Doc 731-1 Filed 11/07/11 Entered 11/07/11 18:08:15 Des $$p_{age\ 7}$$ Exhibits 1A - 3 Page 24 of 27

Date	Initials	Description	Hours	Amount
10/10/2011	RR	Draft and revise emails to counsel for debtors regarding effective date and related matters.	0.20	84.00
10/11/2011	RR	Draft and revise template for indenture trustee fee applications.	5.30	2,226.00
10/12/2011	RR	Draft and revise template for fee application for indenture trustees (4.4); research regarding same (1.8); review and analyze TOPrS documents, docket and related materials regarding same (1.4).	7.60	3,192.00
10/12/2011	RR	Conference with T. Meyers regarding estimation of future fees per Kinetic request.	0.20	84.00
10/12/2011	TCM	Email exchange with Robbin Rahman regarding creditor designee role in subordination (.1); conference with Robbin Rahman regarding debtor request for fee estimate (.1); email exchange with debtor regarding distribution call (.1); email exchange with Mario Pollio regarding same (.1).	0.40	290.00
10/13/2011	RR	Draft and revise email to T. Meyers regarding estimates of bills for September to effective date (.1); review and revise IT Fee Application (5.0); telephone conference with T. Meyers regarding revisions to same (.3); review and revise same per comments of T. Meyers (2.3); draft and revise email to committee regarding same (.1); draft and respond to emails to local counsel regarding same (.2).	8.10	3,402.00
10/14/2011	RR	Review email from FTI regarding distribution analysis (.1); telephone conference with T. Meyers regarding same (.1); review plan regarding same and provide summary to T. Meyers regarding same (.2); telephone conference with Committee regarding same (.6); telephone conference with Debtors regarding distribution analysis (.6); review and respond to emails of indenture trustees regarding reserves and charging liens (.6).	2.20	924.00
10/14/2011	RR	Review and revise IT Fee Application per comments of T. Meyers (3.5); conferences with T. Meyers regarding same (.3).	3.80	1,596.00
10/14/2011	TCM	Review Kinetic reserve analysis and email FTI regarding same (.8); revise and edit IT fee application template and exchange with Robbin Rahman regarding same (.8); review Cordasco email regarding Kinetic analysis (.1); email exchange with Robbin Rahman regarding plan (.1); review revised Kinetic analysis (.5); call with Kinetic and FTI regarding same (.5); further revise and edit IT fee application template and conference with Robbin Rahman regarding same (.6); conferences with Robbin Rahman regarding distribution issues (.3); exchanges with committee regarding same (.2).	3.90	2,827.50

Date	Initials	Description	Hours	Amount
10/16/2011	TCM	Email exchange with FTI regarding Kinetic update.	0.10	72.50
10/17/2011	RR	Review and respond to emails from committee members regarding effective date and distributions (.4); telephone conference with counsel for debtor regarding same (.3); review and analyze plan regarding same (.3).	1.00	420.00
10/17/2011	TCM	Review Marie Pollio email regarding distributions (.1); email Robbin Rahman regarding same (.1); review Ed Zujkowski email regarding same (.1); conference with Robbin Rahman regarding same and other issues (.2); email exchange with John Chalus regarding reserve analysis (.1); telephone conference with Dan Brown regarding status (.1); email exchange with Gene Davis regarding status (.1); email exchanges with Robbin Rahman regarding same (.1); exchange with Mike Cordasco regarding reserve analysis (.1); review revised analysis and email FTI regarding same (.3).	1.30	942.50
10/18/2011	TCM	Review Andy Scruton email regarding reserve analysis (.1); review Mike Cordasco email to Kinetic regarding same (.1).	0.20	145.00
10/20/2011	TCM	Telephone conference with Jeff Cohen regarding status.	0.10	72.50
10/20/2011	LSC	Review plan, plan supplement, and amendments to plan supplement and prepare a chart of deadlines for R. Rahman.	2.10	462.00
10/21/2011	TCM	Review emails regarding effective date (.2); review revised reserve analysis and exchange with FTI regarding same (.2); further analyze Kinetic analysis (.2).	0.60	435.00
10/25/2011	TCM	Email exchanges regarding effective date and other issues.	0.20	145.00
10/25/2011	TCM	Email Colin Bernardino regarding status.	0.10	72.50
10/26/2011	TCM	Email exchanges with Jeff Gettlemen regarding distributions.	0.20	145.00
10/27/2011	TCM	Review Jeff Gettlemen email regarding distributions (.1); telephone conference with Jeff Gettlemen regarding same (.3); further exchanges regarding same (.2); review plan and exchanges with Ed Zujkowski regarding distribution issues (.3).	0.90	652.50
10/27/2011	RR	Review and revise chart of post-effective date deadlines.	1.00	420.00
		Task Subtotal	45.40	21,271.00

B210 - Plan and Disclosure Statement Summary

Summary	Timekeeper Name	Hours	Rate/Hour	Amount
TCM	Todd C. Meyers	8.60	725.00	6,235.00
RR	Robbin Rahman	34.70	420.00	14,574.00

Summary	Timekeeper N	Name		Hours	Rate/Hour	Amount
LSC	La Asia S. Ca	anty	•	2.10	220.00	462.00
	Task Subtota	ıl		45.40		21,271.00
		B310	- Travel Time	e		
Date	Initials De	escription			Hours	Amount
10/10/2011	TCM Tra	avel to Chicago for hearing	g (bill at half r	ate).	2.80	1,015.00
10/11/2011	TCM Tra	avel to Atlanta (bill at half	rate).		2.80	1,015.00
	Ta	isk Subtotal			5.60	2,030.00
		B310 - Tra	vel Time Sun	ımary		
Summary	Timekeeper N	Name		Hours	Rate/Hour	Amount
TCM	Todd C. Mey	vers	·	5.60	362.50	2,030.00
	Task Subtota	ıl		5.60		2,030.00
		All T	asks Summa	ry		
Summary	Timekeeper N	Name		Hours	Rate/Hour	Amount
TCM	T. C. Meyers		•	16.40	725.00	11,890.00
TCM	T. C. Meyers	:		5.60	362.50	2,030.00
RR	Robbin Rahm	nan		47.50	420.00	19,950.00
LSC	La Asia S. Ca	anty		27.60	220.00	6,072.00
			Totals	97.10		\$39,942.00
Other Cha						
09/26/2011	Airfare 2011.	expense of Todd C. Meye	ers for a trip to	Chicago on S	Sep 26-27,	605.40
09/26/2011	Hotel e	xpense of Todd C. Meyers	for a trip to C	hicago on 26	Sep 2011.	275.81
09/26/2011	09/26/2011 Taxi/Cabs expense of Todd C. Meyers on Sep 26-27 2011.			96.00		
09/26/2011		xpense(s) of Todd C. Meyere of Wilmington Trust).	ers on Sep 26-2	27 2011 (w/S	teve	118.02
09/26/2011	Airfare 27 Oct	expense of Robbin Rahma 2011.	an for a trip to	Chicago on 2	26 Sep 2011 -	568.40
09/26/2011	09/26/2011 Meal expense of Robbin Rahman on 26 Sep 2011 - 27 Sep 2011.			011.	77.55	

Other Charges:		
09/26/2011	Taxi/Cabs expense of Robbin Rahman on Sep 26-27 2011.	116.43
09/27/2011	Hotel expense of Robbin Rahman for a trip to Chicago on 27 Sep 2011.	359.27
10/11/2011	Westlaw On-Line Legal Research	174.90
10/12/2011	Westlaw On-Line Legal Research	213.68
10/13/2011	Westlaw On-Line Legal Research	18.15
10/19/2011	PACER Service Center - Online document retrieval for period 07/01/11-9/30/11.	62.08
10/26/2011	PACER Service Center; Usage from 7/1/11 to 9/30/11.	21.12
10/26/2011	PACER Service Center; RSR: Pacer transactions for Corus.	137.04
	Document Reproduction	37.10
	Long Distance Charges	839.95
	Document Reproduction	5.80
	Total Other Charges	\$3,726.70
TOTAL AMOU	\$43,668.70	